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Answer the questions for either (A) Rules of the Game OR (B) The Split Cherry Tree.

PART 1 (35 points)

A. RULES OF THE GAME / Amy Tan

Answer questions 1-4.

1.

After winning the chess tournaments, Waverly still (—).
(i) has to share a room with her brothers

(i) has to go with her mother to the market

(i11) has to do her chores with her brothers

(iv) continues to play chess in the park

(5 points)

At the end of the story, Waverly's mother tells her sons to ignore Waverly after she (—).

(i) lost the chess tournament
(i) ran away from her mother
(iii) refused to have her picture taken

(iv) threw away the chess set

(5 points)

How does Waverly's mother help her daughter become a good chess player? Give information

from the story to support your answer.

ANSWER: ettt ettt et e b e bt et ae et b et aeenaeens

(10 points)
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4. For this question, choose ONE of the thinking skills from the Appendix (noDy) on page 15 OR
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any thinking skill studied in class. Use this thinking skill when answering the question.
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OR:

B. THE SPLIT CHERRY TREE / Jesse Stuart

Answer questions 5-8.

S.

Pa is not happy with the school Dave goes to because (—).
(i) it costs too much money

(i1) there is too much homework

(iii) the children go on field trips

(iv) the children must clean the school

(5 points)

What does Pa learn at school?
(i) How to dissect snakes.
(ii)) How to be polite.
(iii) What it means to be honest.
(iv) What germs look like.
(5 points)

When Pa decides to go to Dave’s school, he takes a gun with him. What does this tell you about

Pa? Give information from the story to support your answer.

ANSWER: ..ottt st sttt e a e st sr e sreeanens

(10 points)
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8. For this question, choose ONE of the thinking skills from the Appendix (noD) on page 15 OR
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any thinking skill studied in class. Use this thinking skill when answering the question.
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PART II (45 points)

Answer the questions for either (C) All My Sons OR (D) The Wave.

C. ALL MY SONS / Arthur Miller

Answer questions 9-13.

9.

10.

In Act I, Keller tells Ann and Chris that "...there was a court paper in my pocket" to
prove that (—).
(i) the factory belongs to the Keller family
(ii) the factory didn't make cylinder heads
(iii) he was not guilty of the crime
(iv) he helped the army during the war
(5 points)

In Act II, when George comes to the Kellers after visiting his father in jail, he tells Ann
that (—).

(i) his father wants Ann to marry Chris

(ii) they should have written to their father

(iii) he now believes that Steve is innocent

(iv) he wants to turn Keller in to the police

(5 points)
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11. In the beginning of Act III, Jim says to Kate, "It takes a certain talent - for lying. You
have it, and I do. But not him [Chris]." Discuss Chris's character based on this comment.

Give information from the play to support your answer.

ANSWER- .o e

(10 points)

12. At the end of Act I, the Kellers learn that George is coming to see them. Discuss how this news

affects Kate. Give information from the play to support your answer.

ANSWER- oo e e

(10 points)
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13. For this question, choose ONE of the thinking skills from the Appendix (nav3) on page 15 OR
any thinking skill studied in class. Use this thinking skill when answering the question.

(10 points for the content of the answer, 5 points for the correct use of the thinking skill)

When Chris realizes that his father has committed suicide, he says "Mother, I didn't mean
to —". Mother answers, "Don't dear. Don't take it on yourself. Forget now. Live."

Explain why Mother says this. Give information from the play to support your answer.

Thinking SKill T ChOSE: ..eecviiiiiieiie ettt ettt sttt e et e e aee et e e saseesnteeenbeesnseeeneeenns
ANSWER- .ottt ettt et ettt e b ettt et e bt e bt e bt et e e be e bt e be e beebeentean

(15 points)
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D. THE WAVE / Morton Rhue
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Answer questions 14-18.
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14. When Laurie left The Grapevine office one evening, she was frightened because (—).
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(i) she heard a loud crash
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(i1) David tried to hit her
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(iii)) someone wrote 'enemy' on her locker
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(iv) Robert was standing in front of her
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15. Why does Principal Ross ask Ben to stop the experiment?

\\
\/—
-~
2\
N
I,i
Sy
/,
/.
RN

/
-
2
o
S
2.5

(i) Parents didn't like what their kids were doing.
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(iii) Some teachers were jealous of Ben's popularity.
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(iv) Many students from other schools had joined The Wave.
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points for the content of the answer, 5 points for the correct use of the thinking skill)

Discuss. Give information from the novel to support your answer.

17. Explain Amy's role in the novel. Give information from the novel to support your answer.

ANSWER- .ottt ettt b ettt s h e et sae e e

(10 points)

18. For this question, choose ONE of the thinking skills from the Appendix (nav)) on page 15 OR
any thinking skill studied in class. Use this thinking skill when answering the question. (10

At the end of the novel, Ben Ross says to Laurie and David that this is one experiment he won't

repeat the following year. Do you think this experiment should be conducted in other schools?

Thinking SKill T CRHOSE: ..ccuiiiiiiiiieieeeee ettt ettt e st e st eebee e
ANSWER- ettt ettt ettt e et et et e a e e n et e et ea e et et e teent et e aeeneeneenne e

(15 points)

/11 Tmyaqwnin/

-

N7\

SRty
PP,
NN\ I\ 20\

NI
</

| /_/~—l\\\‘; D,

TSNS
-\’/ NN \/\/’/—’l ~
0y / -~ /
MNCNI\N=) =M\

S
Ly

// 1=

-
e

-

-

\N
/_5—\
L SINA
(A AV S
o\~
P Y AN

yel?,
-
74
LA

\I—'.
=/

¥i

AY
L4 _—\\\\,|\_
3N NS
R ~ ~
NI

\Z

>y

",

[
S
AY

\ N

Qs sl LSB _
ACLIIY Y
4 ,\,’

P d
L
-
\\
YN

\SN2
/L=

AN}

</

Y !
I—,\ )0 \ -~
PEARCAN NOTTIAY

X4

5 >
X

</



*
-
Cad

~
NS

<\
A

'\

»
e
\PDRI

7

-\
\ \\\\‘ ‘

-

/,

-
/

S
- /\

LA

EYYARYd
\\ nL\\

n\\
YA

NI~
\/\\\'

X3

\/
i /’

\’
'

'l

<
e

\ N

-~
S

LA

/7
\

N

~
)

/

/

N\
-
L

=)
-

,,_‘
N
~N\©
-
/,

NS
~

N\

o~ J=\"

\
(2

-4

-
/,

a=ma\'” 2 2\

/
-

,\

L 9”XY
<

Z

oy " am®
S\J=
/\\—\

ANV AN

ialbio ) ol u.a
NI 2 KY;

2 o\
’,\\ \/I"

7

PV S\ Qe

. @

NODI + 1658401 ,2 TYM 1YWN YD , MO0 ,11PYNIN -11-

PART III (20 points)
Answer the question for either (19) Mr. Know All OR (20) The Road Not Taken OR (21) The Enemy.

Suggested length: 80-100 words.

19. MR.KNOW ALL /W. Somerset Maugham
"Can it be that we often misjudge what we see because we merely look at the surface and fail
to look deeper? Yes, the truth is often hidden from us. That's why we are warned by Aesop, the

rn

Greek storyteller, that 'Appearances often are deceiving'." — Adapted from Chuck Gallozzi

Make a connection between the above quote and the story. Give information from the story to

support your answer.

20. THE ROAD NOT TAKEN / Robert Frost
"You are unique. You have different talents and abilities. You don’t have to always follow in the
footsteps of others. And most important, you should always remind yourself that you don't have

to do what everyone else is doing." — from The Light in the Heart by Roy T. Bennett

Make a connection between the above quote and the poem. Give information from the poem to

support your answer.

21. THE ENEMY / Pearl S. Buck
"One’s true nature is revealed at times of great adversity and a great human spirit is one that
endures struggles and conflicts and remains true to their deepest beliefs right to the end." —

Adapted from Daisaku Ikeda

Make a connection between the above quote and the story. Give information from the story to

support your answer.
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Use this page and the next (pages 12-13) for writing a rough draft.
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Write your final version here:
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